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Stuart Hall, op. cit.; cf. Rosalind Coward, Class Culture and the
Social Formation. Screen. Spring. 1977. Vol. 18. 1. 75-105.

Clifford Geertz, op. cit. p. 212: "It is not truth that varies with
social, psychological and cultural contexts but the symbols we
construct in our uniquely effective attempts to grasp it.'"; cf.
A.L. Kroeber and Clyde Kluckhohn. op. cit. p. 174 ff.

Such a bland assertion of course masks most of the current episte-
mological problems in and around the sociology of knowledge. Karl
Mannheim's relationism was a bold attempt to face just such a
problem. see Ideology and Utopia. London. 1972. cf. Derek L.
Phillips, Epistemology and the Sociology of Knowledge. Theory and

- Society. 1. 1974. 59-88.

Louis Althusser. op. cit. 151.

on the problems associated with simple reduction see Raymond
Williams, Base and Superstructure in Marxist Cultural Theory. New
Left Review. 82. Dec. 1973, 3-16.

Karl Popper, Objective Knowledge. Oxford. 1972.

For a review of theories of mass culture see Salvador Giner,
Mass Society. London. 1976. esp. Chapter 9. The distinction
between professional, applied and amateur is argued by Thelma
McCormack, Folk Culture and the Mass Media. op. cit.; cf. also
Edward Shils, Tradition, in Centre and Periphery. Essays in
Macrosociology. Chicago. 1975, 182-218.; idem., Mass Society and
its Culture, in N. Jacobs (Ed.), op. cit. 1-27.

cf. Talcott Parsons, The Social System. New York and London. 1951.
and Nicos Poulantzas, Political and Social Classes. London.
1973. esp. 206 ff.

Antonio Gramsci, Selections from the Prison Notebooks. op. cit.

Gwyn A. Williams, The Concept of 'Egemonia' in the Thought of
Antonio Gramsci. Journal of the History of Ideas. 1960. 21. No. 4.
586-599. p. 587.; cf. Stuart Hall, Bob Lumley, Gregor McLennan,
Politics and Ideology: Gramsci. Working Papers in Cultural Studies.
10. 45-76; James Joll. Gramsci. Lendon.. 1977 esp. 88~104.

Louis Althusser, Ideology and Ideological State Apparatuses. op. cit.

Max Weber, quoted by Hans H. Gerth and C. Wright Mills, From Max
Weber. Essays in Sociology. London. 1970. p. 47.

Stuart Hall, op. cit.

cf. Stuart Hall, Encoding and Decoding in the Television Discourse.
op. cit.; Frank Parkin, Class Inequality and the Political Order.
London. 1972, esp. p. 81 where he distinguishes between dominant,
subordinate and radical value systems.

see especially. Jurgen Habermas, Legitimation Crisis. London. 1976,
and Daniel Bell, op. cit.
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Appendix 1

Analysis of Episode 6 of Intimate Strangers in terms of Christian Metz's

"Grande Syntagmatique"

TIME (minutes and seconds)
00,00 00.30 CREDITS
00.30 1. Sequence
Early morning, Joan and Harry. Continuity of action;
immediately before and after the act of eating breakfast,
02.35 (Not entirely unproblematical: conceivably two scenes.)
02.35 2. Scene
Harry's arrival at work: a continuous action, despite
Harry's disappearance from the image, and continuous in
time: his reappearance is anticipated. A separation in
space (inside/outside) but the continuity of time and action
04.57 indicates a scene.

04,57 3. Alternating Syntagm (2: Telephone)'(l)

The conversation between Joan and Kenyon: uneven but distinct,
The slight extension of attention to Joan at the end does
not disqualify the categorisation or indicate a separate

06.30 segment,

06.30 4. Scene
07.40 Harry and Foster at work,
07.40 5. Scene
10.57 Harry and Joan at dinner,
10.57 6. Scene
12.44 Harry and Joan in the bedroom.
12,44 7. Alternating Syntagm (1l: Chase)

Joan at home, Harry and Kenyon discuss the plans.,

The link is a comparative one. While there is only one
alternation, the juxtaposition of Joan (minimum action/natural)
and Harry (maximum action/cultural) suggests we should take

14,24 this as one segment,

14,24 8. Scene
15.22 Kate and Joan, ‘
15.22 9. Connected Syntagm (Scene 2) (3)

Harry's drive and minor accident. Cut to Joan and Kate
awaiting him inside the house. Harry enters and new
(inter-) action develops: but separation and linking action

19.44  and space (inside/outside).



19.44

21.10

21.57

24.54

25.09

25.45

27.07

27.21

27.33

28.26

21.10

21.57

24.54

25.09

25.45

27.07

27.21

27.33

28.26

37.17
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END OF PART ONE
10. Connected Syntagm (Scene 2)

Joan in garden: finishes work. Comes ingide and meets
Kate and Harry. Again continuity of time, but linked
separation of action and space.

11, Scene

Joan at Church., More than one shot, Clearly a
geparate segment.

12, Connected Syntagm (Scene 2)

Harry and Kate begin their row. Joan arrives outside the
house. Stops and listens, Back inside for Joan's entrance,
This is a borderline Scene/Connected Syntagm - the dependence
is on the significance of Joan's arrival as a separate action
(and indeed separate place: outside/inside again).

13, Descriptive Syntagm

Narratively both time and action are insignificant, though
clearly not exorcised completely. Possibly Parallel -
depending precisely on a subjective determination of the
passage of time, She looks up at the window: cut to
Harry asleep. An indication of simultaneity.

14, Scene

Joan and Harry and Kate in the Kitchen,

15, Scene

Harry and Foster and Kenyon, The deal is agreed.

16. Scene

Dale, the apprentice, makes his plan.

17. Scene

Harry, Kenyon and Foster sign.

18 Connected Syntagm (Scene 2)

The explosion in the car: Kenyon and Harry rush to the
exhaust, Foster joins them. Harry runs inside, Hand-held
eye-view shot, Harry attacks Dale, Clearly a difficult
segment to place, Linked but separate actions and places.
Almost certainly a continuity of time,

Joan and Harry have it out,

END OF PART TWO



37.17

46,52
46.52

47.57
47.57

49,05
49.05

51.53

Footnotes:
(1)
(2)
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20, Sequence

Harry weakes up alone, Sees the empty bed. Cut to
Joan walking alone in the garden: Harry appears,
dressed, behind her. Then continuity of time, space
and action, Basically continuity of action but a
break in time,

Harry, Joan and Kate discuss the plans,

22, Episodic Sequence

A series of related but uncompleted actions
sutmarisable under the heading 'Past',

23. Scene

Harry and Joan in the garden, The break from
22 is indicated by their coming together, and
their subsequent interaction,. End Credits.

In two cases, this being one, it was found empirically necessary
to refine the Metzian classification. Here,two different types

of alternation are recognised, the one exemplified by the telephone
conversation, the other, the alternation described by Metz,
exemplified by the chase. Very simply what distinguishes them

is their different quality of time and action: in the one, the
telephone conversation, time is sequential during the action and
actions within the alternation are linked but separate;. in the
chase there is a clear indication of simultaneity of time - the
police car and the getaway car are moving closer together - while

the action 1s cumulative; it is likely that the two will meet.

The natural/cultural distinction is not one that intrudes or should
intrude at this level of analysis; it is drawn upon here simply in
order to specify or reinforce the nature of the contrast and the

unity of the segment,
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Footnotes (continued)

(3)

The second refinement occurs in the gap between the scene and the
sequence, Here, using similar criteria of space, time and act%pn,
one can distinguish the connected syntagm from the scene, The
latter defines a simple unity of space, time and action; the
connected syntagm defines an autonomous segment in which a
continuity of time holds together two spatially separate but

linked actions. The paradigm is an articulation of inside/
outside actions.
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Appendix 2 Vladimir Propp's Narrative Functions

(Abridged from Morphology of the Folktale pp. 149-155)

Preparatory Section

@ 3 v M o < W R

€ xR L H DO MmE Y SO0

initial situation.
absentation,
interdiction,
violation,
reconnaissance,
information received,
deceit,

submission to deceit.

Villainy,

Lack/insufficiency.

Mediation, the comnective incident.
dispatch,

release: departure,

announcement of misfortune.

Oonsent to counteraction.

Departure: dispatch of the hero from home.
The first function of the donor.

Reactiod of the hero.

The acquisition of,receipt of,a magical agent.
Transference to a designated place, guidance.
The hero struggles with the villain.
Victory over the villain.

Branding or marking the hero.

The liquidation of misfortune or lack.
Return of the hero

Pursuit of the hero.

Rescue of the hero.

Unrecognized arrival.

Claims-ofa false hero.

Difficult task

Solution (resolution) of the difficult task,.
Recognition of the hero

Exposure of the false hero.

Transfigurﬁtion.
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U Punighment of the false hero or villain.

Wedding and accession to the throne.
® connectives,

The 31 functions exclude o and s and count A and a as one., Apart from B,
which 18 a diffuse category, all functions have been noted only by their
main headings in the Morphology of the Folktale. These are the classif-
ications which accord Propp's analysis its generality; within each

of these individual functions there may be as many as 19 variations which,
of course, will be significantly more specific to the Russian folktakes

Propp used for his analysis,
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Appendix 3. A,J, Greimas! Structural Model of the Narrative
(from Semantique Structurale p. 203)
Propp's functions
P g? Departure: it is not clear of whom
Rupture _ '
of A ' The contract broken.
oOrder and fl ;g Knowledge (recognition) denied,
Alienation f2 Power denied.
C, , Aa Object denied. (Lack) (Villainy).
p ? Arrival
A1 BC Agreement to act: a new contract,
P 0 Departure of the hero
A2 DE The Qualifying test: A2: contract,
F2 F2 combat, non ¢, result
non ¢, F (help: power),
Search d G Rapid journey: the arrival of the
non plf hero at the place of combat,
Fy H.I The Main Test: the contract already
1 entered into (A1 above), Flz combat
non ¢, ¢y branding (potential recognition)
non ¢,: receipt of object.
New non p, w
search d Pr/Rs Rapid return and pursuit
¥
Fy
P J
A3 A M The Glorifvying Test: A3: contract
F3 N F3: combat: non cq recognition.
non ¢, J Q
Reinteg- 02 T. (ex) Power regained (transformation)
ration and C, w., (u.) Object regained (wedding).
Restoration A B.C. A new contract (with society)
of Order K established and lack liquidated.

*1

*2

*]

*3

*5

*6
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Footnotes to Appendix 3

This table belies the very real difficulty of making the two sets of

functions correlate, Some of the problems are discussed by A.J, Greimas

himself: others result from his insufficient or ambiguous consideration,

*10

*2,
*3,

*b,

*5.
*6.,

Propp's B involves the absenting of the elders. It is one of the
preparatory functions which are by no means mandatory to the narrative.
It is not clear why Greimas should accept an opening journey here,
except to balance the p structure, But since this function is
repeated,its significance, structurally, is not clear.

There is no eguivalent function in Propp's morphology.

As Greimas notes (Semantique Structurale 1970, Propp's treatment

of the three tests is uneven. Strictly there is no function in

this test for the equivalent of Greimas' F (affrontement/ré;ssite)
Propp talks of D (the first function of the donor) and E (the reaction
of the hero). These two functions are assimilated into A, the contract
in Greimas' formulation.

Here the contract A1 clearly has been established. The main test
consists in the contract and victory (F1 = H,1), and resolution -
liquidation of the lack (non c, = K).

3
F, an unexplained function.

Similar to *3 above. In Greimas' view: 1. Propp only identifies
half of his function A., failing to recognize the response of the
hero to the setting of the task (M), and 2. Propp identifies only

half of function F3, ignoring the combat and identifying only the
success. (N).
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Appendix 4. Series Morphology ( following Vladimir Propp)

o < R

]

R

~
Nt

(.

Wm0

(x-)

o

(k-)
(¥)

the initial situation: Joan and Harry established.
the implicit violation of a prohibition., Harry's 'failure'
revealed as a result of his heart attack.

The heart attack,

Information about Harry's recovery and its implications.
Harry's consent to counteract,

Harry with Bob, and to a lesser extent Joan,

as potential helper/opposers.

Harry's journey to the city.

His failure,

His return.

His lack of a job (cultural health) reaffirmed.

Harry and Joan together agree toact to find social and physical health

Their journmey to the Lake District,

Involved with the Lansons,Ruskin, the Church,
the ghost of Peter, of Donald Campbell etc, and
with each other as potential helpers/opposers
Their lack of relationship, Harry's lack of job,

Their return.

Harry's task: to find a job.
His departure to the City,
His involvement with various potential helpers/opposers
(the publisher, the printer, the banker, Joan)
in his search for employment,
His return home.....
empty handed,
need)
Harry's desire) to do his job well.
His departure from home to work,
Pat, as the potential helper/opposer, and his
failure to find help'outside the marriage.

His lack of cultural and social health restated.

An implicit return.
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(Episodes 2-5 manifest, at their most simple but also their most
basic, a similar morphology and function in the series

as a whole),

6. (AZa) The lack of a good job, and Foster's threats.

c Harry's need to do well is reluctantly accepted.
14 His departure from home,
D)(H His involvement with Kenyon " and potential

E; I) helpers/opposers: his involvement with Foster as

F) a neo-villain,  Successful.

K+ Lack liquidated. Contféct achieved . Job sgecured.
M His involvement with the apprentice Dale, and

N | his failure to achieve final recognition. Harry is

Q- beaten and his job has gone.

V His return home.

U As false-hero, he is punisghed.

W~ As failed hero, his marriage is threatened.

A new initial situation. A second narrative begins,

7. B Information about the project.
C Harry's acceptance of the task,
1t Movement of home,
B Information about Joan's lack, her house and her garden,
(c) Joan's begrudging acceptance of the.problem.
D Joan (and Hérry's) involvement with her friends, the
E potential buyer of the house, Bob,ag potential “.elper/
F- opposer ., All fail. '
(K-) The lack, principally Joan's, remains.
\Z
8. B Harry despatches Joan to the city.
. C Joan agrees to go.
1 She goes.
D Her involvement with Lionel as potential helper/
E opposer (actual seducer). An ambiguous result,
T
Y Her return home.
K- The lack remains,

(o) Joan 1is unrecognized: her involvements unannounced.



10.

11.

12.

13.
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(1)
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Harry dispatches Joan to the doctor,

She consents to go.

She goes,

The doctor gives advice.

Joan accepts the advice and as a result.,,.

She gains some confidence: reinforced by her
involvement with Harry's young friends.

She returns home.

The lack in the relationship liquidated.
Intimations of the 'wedding" in their love-making.

Harry and Joan's departure and return from London to
buy a double bed.
Their testing as family leaders by Matt and Judith,

This success and the recognition of it,

Harry and Joan's departure to Portsmouth,

Joan's involvement with the sale and their joint involvement
with the old sailor. Each, although differently, leads to...
their recognition of their own success and achievement,

Their return home.

Harry's departure to the City.

His involvement with the tycoon, with Bob, but
above all with the P,R., lady.

His return.

Their mutual recognition.

The implicit réstatement of their success.
The 'punishment' of the "villain", Bob.
Their transformation: in clothes, in spirit,

The anniversary party ( wedding) and their new house,
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Appendix 5

Series: Structure (following Greimas)

The négative statement of the initial situation: the
implicit breaking of a contract (essentially but not
exclusively with each other),

The lack: loss of health,.

Loss of identity and of confidence (self-knowledge)
Loss of power, ability to act,

Harry's consent to act,

His involvements with various helpers/ The qualifying

opposers, tests,
His failures,
His own, momentary success (Episode 6)
His job success. Main
The redemption of lack as a result: contract, jolf test,
The involvement with apprentice Dale
.1 Glorifying

His reaction.
His failure to achieve the confirmation of his heroic Test

gstatus,

The general failure re-established. 61 the non recognition

of his heroic status (Harry as anti-hero); C; : >—62 His
failure to act becomes his powerlessness; Ca“ﬁ963 His failure

at work reaffirms and over determines his total failure as
a man,

Harry and Joan begin again,.

Harry and Joan are involvea in their various.} Qualifying
encounters with helpers/opposers. | Tests,
Their final success in gaining the right help/advice.

} Main

Test.

The success in their relationship.
The fruits of that success.
Their mutual recognition:

a success: rediscovery of each

other.
Their various tests, both jointly and separately } Glorifying
which establish and confirm their heroic status Tests

That recognition of heroic status

Their transfiguration/transformation.
Marriage and Building.

The new contract.
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Appendix 6

Analysis of the Morphology of Episode 6 using

the categories of Vladimir Propp

1. &Y DEF (-)/a The opening sequence. Harry's surreptitious
early morning drink is already a violation, ¢,
of a warning, Y, implicit in Joan's look. Joan's
offer of breakfast and lunch, D, is rejected, and
this rejection, E, involves a denial of Joan's
support and/or understanding, F-, This 'DEF'
sequence of testing, of which there will be
many examples, does in this case as a whole
indicate the nature of the lack, a, of relation-
ship. Its identification here in fact demands
knowledge of the series, knowledge which makes

it more explicit than it otherwise would be.

2. B* ZaC This segment is concerned above all with
Harry's lack of work, a. His response to the
idle works, to open his letters, to ring the
bursar and to take a drink, is indicated by C,
consent to counteraction., The main problem
concerns the identity of 84 and of § , both of
which refer to the providonof information, the
former of information about the lack (lack of
noise indicating lack of work); the latter of
information about a villain. While, given the
alternatives provided by Propp, the labelling
is less arbitrary than it might be, in general
the introduction of information into the narra-
tive is not well handled. Indeed this 1is of -
some significance for contemporary narratives
which seem to rely, in their complexity, on the
transmission of information of ohe sort or
another as a fundamental part of the story-
telling. The second problem concerns the

presence of the villain. In Intimate Strangers

a villain as such rarely appears, though
functions which, according to Propp, demand the
presence of one are clearly identifiable, In

this case the villain is Foster.



5.

(382

(S)DE
DE

c®

(F+/-)
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A segment involved in the provision of information.
Kenyon tells Joan that he might have work for Harry
(the is relevant to a:work) but also sows seeds of
doubt in Joan's mind about Harry's recent trip to

London (a:relationship).

(8) indicates the continuing violation of the warning
not to drink, Foster now reveals himself as a
functionally complex figure: in one sense it is clear
that here he acts as a dispatcher, defining the task
for Harry and supporting that definition with threats
(hence Propp's Bz), but maintains his position as at
least an implicit villain, precisely because he has

it in his power to thwart Harry's progress (by giving
him the sack)., C indicates Harry's consent to
counteraction and indicates a more or less catch-all
category (also concerned with the transmission of
information) which Propp calls a connective - in this
case the ringing of the phone and Harry's recognition

of Kenyon's voice,

(5) drink. Two tests are involved here, both of which
are incomplete, The first is the alienating test,
basically a repetition of the one in 1; the other is
Harry's subterfuge over bis trip to London. Joan

is upset but her denial of support and/or her acceptance
of Harry's story is still left open (to 6). (F+/-)
indicates therefore an incomplete but complex conclusion.
(Strictly F has to do with the provision or denial

of a magical agent. Clearly in this context it

is legitimate to demystify it slightly, We are
concerned with the provision or denial of help with
regard to the liquidation of the initial lack.)



6.
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F/E(EC)F-/ACa) A difficult and complex scene involving deception

(F-) DE

p$

and the receipt of information. Joan comes close

"~ to villainy: F/E indicates Joan's response to

Harry's drunkenness; her provision of help, E, is

at the same time her reaction, F, to the challenge

of Harry's lie. (egr) indicates the nature of this
response, i.e., E(cr), reconnaissance and receipt

of information. F-/ indicates her negative reaction
and the implicit denial of support for Harry (a).

So, in all, this segment is both a summary and a
clear statement of the lack in their relationship

(a) overdetermined, as it were, by Harry's past

villainy and Joan's present villainy, A.

Joan is alone in the g#rden. Her solitude is to
be seen as a reaffirmation of her implicit denial
of Harry in 6, as well as a general statement about
the lack of relationship. DE indicates Kenyon's
promise of a contract which is his first function
ag a donor: Harry responds, E, The conclusion
remains to be stated. Hence, even in a 'static'
Proppian analysis we can recognise in the DE-)F
sequence the dynamic possibility DE, definition (F)
and the necessity of this interrelation. There is a
sense in which D and E need to be completed (see
below) and it is this necessity which provides one

agspect of the dynamic in the narrative.

Joan and Kate: D indicates Kate's first function

as donor (of a drink specifically), and we are

aware, as she becomes aware, of the equivocality of
the gift;8 : Joan provides Kate with the information

(and reminds us of the implications of Harry's situation).



9.

11,

12.

S EFDEF (not+

DEF(-)

not-)
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Harry's altercation with the wheelbarrow is heavily
symbolic, but otherwise narratively neutral, It
provides in addition specific information about
Harry's drunken state, The first EF indicates
Harry's generally positive response to Kate's

bottle, and the fragile interaction, F, which results.
The second DEF (not+/not-) involves Harry's and
Kate's confrontation over her income, F (not+/not-)
suggests a central and open result that there is

more to come, in other words that the offer/acceptance
of the magical agent (support/understanding) is

still held in abeyance.

END OF PART ONE

The suspense with regard to the resolution of the
test in 9, maintained by a narratively neutral
segment, providing only very general information:
it is Sunday, Joan works separately and goes to
church separately, Kate and Harry, the contestants

in unfinished business, remain.
Re-emphasis of Joan's separation.

A complex segment; the DEF test involves Harry and
Kate, the final negativity of F(-) being reinforced
by Joan's appearance and involvement, Strictly

both Harry and Kate act as separate donors: Harry

of information, accepted by Kate as helpful in the
pursuit of her particular tasks; and this in turn
leads to the providing of information (about her
relationship with Bob) which Harry finds objectionable.
In both cases then, the first function of the donor is
the provision of information. The end result is the
denial of support for Harry, and his increasing
isolation - he is getting further away and further
away, it would seem, from the liquidation of lack

(a: relationship) and the denial of help by Kate

only adds another dimension (see 14),



13.

14,

15,

16.

17

18

(a)

(D)EF

(S)F/u

1K

MN-/Q-U-/a
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A connecting segment emphasising lack of
relationships (a: relationship).

This concerns the neutralisation of 12, but of a '
limited kind. Harry apologises and has Kate's
support in his pursuit of lack (a: work), but it

is not a major event for the narrative, and Kate
remains a fairly equivocal helper. (D): Harry's
apology; E: Kate's friendly response; F: support
for Harry: a 'magical agent' to take with him on

his search,

F in relation to DE in segment 7 above, H indicates
the struggle with the villain - the beginning of the
main test with reference to the lack, a: work,

A multi-functionality is involved. Kenyon agrees
to the deal, F, and in so doing offers Harry the

key to the eradication of the threat of the sack.

It becomes part of the main test and the struggle
with the villain because Foster is now all that
separates him from achieving the fulfilment of the
task. (8) once again refers to the drinking
prohibition,

Dale's announcement of his yet unspecified villainy.
(Dale is Foster's apprentice - villainy at one remove
indicates perhaps a recognition of the problem of
villain/dispatcher,)

The liquidation, apparently, of the lack, K, by

virtue of Harry's victory, I, over the villain,

Propp indicates that in the narrative there

usually follows a further test, once the main test
(with reference to the stated lack) has been completed.
This test involves the hero once again, and involves,
often, the necessity to prove his rightful title to
the object of the search. It is possible, though
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Propp does not indicate the possibility, that the hero
can fail in this test, Here Harry fails. M, the
difficult task (how to deal with the explosion), N(-),
Harry's negative resolution (he attacks the apprentice).
MN implicate Q(-) the (non)-recognition of the hero

and U(-) the (non)-punishment of the false hero or
villain, Harry goes unrecognised and he is punished
as though he were a villain - by the very punishment
which negates the previous success: his lack (of work)

is reaffirmed,.

19. § The major scene of the episode and the series.
DE(-)F(-)/ 1Its analysis depends partially on its place in
HI(-)/ the series which makes the categorisation sug-
K(-)/ gested fairly safe. As a result of the negativity
Q(-)/ of 18, Harry returns home, He reports (& ) what
W(=)/ happened. What follows is a final (qualifying)

test for Harry from Joan - the test which has

as its source his trip to London. This test fails;
Harry responds negatively; they are still separated;
no magic., DE(-)F(-); this test however is
magnified in its narrative significance, The
failure, F(-), explains what is at stake (ie the

lack - a:relationship). H and I indicates the
intensity of the struggle, the main test with

regard to lack though without a clearly defined
villain (is it Harry? 1Is it Joan, is it circum-
stance?). As a result the lack is unliquidated,
K(-). Harry is unrecognised, Q(-) and the wedding which
should follow a successful outcome is transferred to
its near opposite, W(-), the threat of a split - in
other words a re-emphasis of the initial lack (a:
relationship). We can follow Propp here, in
identifying the end of a move, which by virtue of its

negativity indicates that a new move is to follow, .

END OF PART TWO



20

21

22 2

23 2

aBel aBC

DEF
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I1f, as seems reasonable, the final function in

19 is W(-), then the first part of the series'
narrative is complete, and indeed within the
episode itself there is a clear break,. There 1is
no clear break like this in any other episode,

and for this structural reason, as well as more
obvious ones to do with context, Episode Six 1s
seen to be pivotal. announces a new situation,
and a new move, In the early explanation

and discussion of the situation the following
preparatory functions can be identified: ?
absentation (of Joan); € reconnaissance (by Harry
to find Joan); { information received by Harry
about Joan (and vice-versa)., What follows is
the statement of the problem: the lack (a:rela-
tionship); its discussion B (what Propp calls
the mediating incident); and C their joint

consent to counteraction.

Harry and Joan test Kate, in search of support,
They get it.

This episodic sequence serves a basically
connective function - memories, the past
symbolised (incidentally an example of a complex
signifier with a simple signified).

A further connective -~ this time looking, with
trepidation, to the future,
END



=377-

Appendix 7

Analysis of the Structure of Episode 6 using the categories

A
A2
F2 (035
non Cz(—)
1
Cs
A1
A2 (El
F, E_?;(?)
non cz(—) C3

A F_ non ¢

2°2 2
A2F2 non c2(+/—)
F1 non c3

of A,J, Greimas

The drink. Symbolic of, and essentially a
summary of Harry's relations with the world.
Also a specific violation of a specific

prohibition.

The failure in the relationship. Harry is
denied the power to affect his circumstances.
He remains without support.

(C3 - the lack of relationship.)

Departure,
At work. The reconnaissance and receipt of
information.

Announcement of lack/villainy.

The acceptance of the challenge by Harry

(Al) - not yet a new contract, strictly.

A question of double functionality. AZFZ non

¢, indicates a repetition of the first qualif-

ying test, with the same result, That and the
diary incident imply that Joan, moment-

arily, plays the villain, In other words, the
link, recognised equally in the Proppian
analysis, of reconnaissance, deceit and

villainy.

Kenyon., A successful encounter, It is through
Kenyon's intercession that Harry is given the

power to transform his position,.

Kate's complex, but ultimately neutral involvement

in what is only another qualifying test.

Combat and victory:
lack.
signed, but ...

the liquidation of the

The contract for the printing has been
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A3 . The glorifying test: to establish the hero's

F3(—) rightful title., Harry fails it, He is not recog-
non cl(-) nised (he becomes momentarily the villain) -
non c3(-) and with the result (non c3(—)) the lack is

reinstated (no work - no relationship).

Py ' He arrives home (in the dark).
Fy A2 The hero is unrecognised, The double func-
non c3(—) FZ tionality again., Joan and Harry's first con-

non c2(-) frontation is in the nature of both the last
qualifying test (the generation of power in
the relationship) and also a second main test,
associated with the lack of relationship. The
A associlated with this lack is implicit (i.e, he
has not stated his willingness to undertake
the reparation of the relationship). It is

assumed that he wants to,

(=) (?) The branding: 'the failure' not removed.

Cz(-) His revelation as a non-hero (without power).

C3(-) His 'negative' marriage: his punishment.

non c3(-) The lack not 1liquidated.

K/E3 The violation of all the norms of responsible
manhood. We have now reached a new re-

affirmation of an initial situation of alienation
(a social heart attack),

p Next morning: Harry's departure,

¢, He seeks out Joan: and they question each other
(knowledge).

63 They reveal the nature of the lack (goods/desire),

62 They discover to some extent,the existence of their

own inadequacy (power).
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A The contract presented.

A2F2 non <, The first joint qualifying test for Kate, Support

given, They are encouraged to press ahead.
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Appendix 8

Morphology of Episodes 1 - 13 (excluding 6)

Episode 1
A. Morphology

o < > e

o QW N g H Y =™ ™o

S

/N
(x) (@)F
Pr.
-

a (A)

Joan and Harry at home (and at work).

. Harry's departure.

Harry's delegation of the job to his junior at the

office.

Announcement by lawyer of the loss of
holiday home.
Harry's decision to find an alternmative holiday.

Request for support for his plans from Joan.

A failure

Kate's help; more successful, though not immediately.

Joan's involvement: and the final acceptance of

the holiday plans

Holiday agreed: 1lack liquidated.

Information from work that something is wrong.

Harry'g rapid departure.

The failure of Harry's delegate.

A test for an object (the remedy of the potential
loss) and for a restatement of Harry's heroic position.
Neither are conclusive.

The first journey to meet the train.

The Heart Attack.

Lack - villainy. A loss of health. Why?

B. Acting Units (Actants)

Hero: Harry.

Help/Opponents: Joan, Kate. Junior at work.
Villain: ‘ ?

Object of Search: tholiday! : redemption of failure at

work.
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Episode 2
A. Morphology

Harry is in hospital.

o The doctor informs Joan about Harry'!s condition and
C a specifies the does and don'ts of recovery. The lack
Y at this stage is his health.
B3 Harry comes home.
C His determination not to be considered an ivalid and
to recover quickly.
D The ambiguous and inconsistent help from the family.
E Matt and Joan row about thée seriousness of the affair.
y
a The lack of work discussed in the garden. )
D The company accountant, Bob, as helper. In
EYH his planning for Harry's return to work, he
F villainously consults the doctor.
Harry's departure to work.
H Harry's failure at work : the job is a non-
I- job. The lack of work remains.
K-
(V) His return. .
o (Q-) Unrecognised. He is rot a hero. There is no

glorifying test.

B. Acting Units

Hero: Harry.
Helper/Opponents: The family (Joan, Kate, Judith and Matt).
Villain: (Bob).

Object of Search: Health (which becomes) Job.
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Episode 3
A. Morphology
o Initial situation : on holiday.
B Their (departure and) arrival.

Y Janet's prohibition : she tells Harry not to 1lift the case,
-6 ta (lack of health) and they row about his eating cream cakes.
e Harry's walk through Coniston. He discovers the presence

C} of Ruskin.

B The past exumed in the recollection of Peter, Joan's
dead brother.

C Harry's exercisess his acceptance of the need to do them,
although equivocal.

D ) The lack of health forgotten, or at least transformed

E r into a social health. A geries of 'encounters!

M J with 'memories of the past! : Ruskin, Peter (Joan's
brother), Donald Campbell, Christ, etc.

D ) The involvement with the Lansons: an encounter which

E ¢ generates momentary closeness between Joan and

2 J Harry.

B (n6 ) Information received by Harry about Joan's deception.

H Joan becomes the villain momentarily as Harry

I argues with her about the implications of his

K(-)} heart attack; the content is work and health; the

a : substance is their lack of relationship.

\V They return home.

B. Acting Units

Hero: Harry: Harry and Joan.
Helper/bpposer: The Lansons, Ruskin, Peter, Campbell, Christ.
Villain: Joan.

Object of search: thealth!, particularly social health.



Episode 4

A.

o,

.t /a
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Morphology

At home.
Information (letter and Joan's conversation with
Judith: 1lack of a job: 1lack of money.

the first of a series of encounters with potential
helpers : this one is the Banker. The difficulty

is averted.
The publisher, Mancroft. This leads to his

meeting with Daniels.

Daniels is helper but also since he holds the key
to Harry's cultural success, a potential villain.
This first encounter is therefore doubly

functional. Moderate success leads to a second test.
The journey to the City to see
The moneylender. Harry's failure to borrow the

necessary capital.
His return and meeting with Paul on the train.
Lack liquidated. Harry's double failure.

Hero nonrecognised Daniels calls off the deal.

His weak counteraction.

B, Acting Units

Hero: Harry.

Helper/Opponents: Banker: Mancroft: Daniels: Moneylender.
Villains Daniels.

Object of search: Cultural health, a job.



Episode 5

(1)
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Full understanding of it depends

The lack specified.
partly on previous acquaintance with the series.

_despatched by Joan.

A. Morphology
al

R
A

T /Ex~

Journey to work.

The lack of relationships at home (mirrored in the row
of Judith and Matt).

The failure of the family to provide the

necessary support.

Foster as despatcher but also as villain and therefore:
in the context of work, and the lack of orders, the

failure to produce work is a serious faillure: Foster's

opposition is fundamental.

Pat. Potentially supporter, but in her guise as seducer
also a villain. Harry's involvement with her therefore
doubly functional lack and gqualifying but also'a main test:
the main test (1) and (2), two

aspects of an overdetermined failure.
Harry returns home, momentarily, unrecognised, he leaves.
He finds Pat and she attacks him, and then

leaves herself.

Harry is left dejected.

B. Acting Units (Actants)

Hero: Harry.
Helper/bpponent: the Family. Pat.
Villain: Foster. Pat.
Dispatcher: Joan. Foster.

Object of search: Harry.
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Episode 6

For fuller analysis see Appendix 6.



Episode 7
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A. Morphology

Q

=)

=3
;__“'

(5)
(1)

M P H Y

F+

Y

HM

N
K—}
Q-

V

Harry and Joan at home.

Information about the lack and the possible plan.

Harry and Joan leave. Itself a consent to counteraction.
The first contact with Mrs Temple, owner of the

bookshop. Information and planning.

Joan and Harry in their mutual testing about the

sale of the house and the sale of the car.

Joan's confrontation (3 in all) with her
friend Marilyn. Joan's activities predominate in

the narrative: they are increasingly negative.

Harry successfully sells the car: money is
gained towards the successful completion of the

transaction of moving.

The abortive sale of the house. Diana is
potential helper - but in the failure suggests

a serious threat to Joan's existence.
Harry's work is the shop but most significantly his
attempt to get his pension early. It fails

His return

Harry and Joan's confrontation at the house.

Doubly functional: a serious test for Joan, but
following the actual failure of the house sale,

her identity is at stake. ©She fails both. His world
is empty.

They return

B. Acting Units (Actants)

Hero: : Joant: Harry

Helper/Opponent: Mrs. Temple: the buyer of the car:
the buyer of the house, Marilyn.

Villain: (Harry).

Dispatcher: Harry.

Object of search: Money: a new life.
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Episode 8

A.  Morphology

o Harry and Joan at home.

B/a Harry's despatch of Joan reveals the lack.

’P/b Her departure signals her consent to counteraction.

X The effective purchase of clothes. The immediate ‘
lack redeemed without a struggle.
This simple move complete.

€ The meeting with Lionel. Information about each

4 other transferred.

n Lionel's deceit and Joan's deception through lunch

8 and afterwards.

A (a) Villainy: Joan is seduced.

D The subsequent incident with Lionel doubly

E . functional. He is her helper, but also her opponent (as

F . seducer. )

KX The result is ambiguous: she has found something of
herself, but at a price.

v Joan returns home.

o] Unrecognized.

M Joan's failure to tell Harry what happened

N } leads to

Q) a denial of her status as hero (or even anti-hero).

K(T-/Ex~) The lack remains: she is punished and
untransformed.

B. Acting Units

Heros Joan.

Helper/Opponent: Lionel.
Villain (seducer): Lionel.
Dispatcher: Harry.

Object of search: ¢ Joan: Joan and Harry.
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Episode 9
A. Morphology
o Harry and Joan at home.
D Joan's various tests: with Harry, with Marion, at the
B Salercom etc. all amounting to a statement of her
a
F lack, her failure.
32 That failure is recognized by Harry and leads to his
dispatch of Joan.
D The visit to the doctor: Joan receives help (of a
E (H) sort) in her struggle with herself.
F
J She goes to the hairdresser: a mark of potential/
actual success/determination.
D) Her dinner.with Harry; of similar functional
E (H) significance to her involvement with the doctor.
F | Harry is helper: she struggles with herself,
D) ‘The narrative develops: her meeting with the
E régg young people suggests her increasingly successful
F J struggle
H|M Harry and Joan together: the villain (Joan) from her test
I|N is the Jjoint recognition of their heroic status.
K The lack is the relationship liquidated.
Q The mark. recognized: though ironically in her nakedness,
T a nakedness symbolic of her transformation.
W They kiss.

B. Acting Units

Hero: Joan

Helper/Opponent: Harry. Doctor. Young people.
Villain: Joan.

Dispatcher: Harry.

Object of search: Harry and Joan: Joan.



Episode 10
A. Morphology
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(The morphology of Episode 10 is presented in two columns:
it reflects the conflictwithin the narrative and the clarity
with which two narrative threads are presented).

(c)
Z /(a)
D
E
P~
134/132
(g)t
K

E
™~
D

H
¥
F

W

B. Acting Units (Actants)
Hero:

Helper/Opponent:
Villain:

Object of search:

Joan and Harry decide to go to

London and buy a bed.

Information is received about Judith':
and Matt's marriage and its tensions.

Harry and Joan try and help,
but fail. The lack

defined.

Information about Judith's pregnancy.
Joan tells Judith to inform Matt.
Joan and Harry go to London.

They buy their bed.

They enjoy their time together:

as heroes.

Judith consults her doctor

about abortion. He refuses.

Joan and Harry return to find
Judith waiting with the news of
their broken marriage. They

successfully intercede.
The lack (Judith and Matt's

marriage) is decreased.
Judith and Matt together again.

(Joan and Harry). Judith (and Matt).
Joan and Harry : (Judith and Matt).
No-one clearly defined as such.
Marriage.
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Episode 11
A. Morphology
A (8) Harry and Joan leave for London and
.Remembrance Sunday.
ei} They remember their past together.
C
a(+)/B Their lost past: their surplus of memories.
/ B/(¢) Harry suggests that Joan sells antiques.
5 They meet Harry's friends in the pub again.
A They go to the party.
D) The praise of their friends: and the
Er mirror image of the arguing couple.
F)
H Joan's first encounter with the saleroom.
D) Joan and Harry's encounter with the old
E } sailor: the past ressurected again. A
P+ | slightly ambiguous encounter.
I Joan buys her first antiques.
The lack: her confidence: her cultural identity
redeemed.
Q The praise of the boys who carry her purchases

to the car, and of Harry.

They return home.

B. Acting Units (Actants)

Hero: Harry and Joan: Joan.
Helper/Opponent: Their friends, the old sailor.
Villain: None.

Dispatcher: Harry.

Object of search: Joan's cultural identity



Episode 12
A. Morphology

(F)

,1\

4

QW €< B o

(=

(F

-
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The departure of Joan and Harry to see accountant.
They meet 0ld colleague and obtain and receive

information about Harry's old firm.

Help, advice and information from the accountant.

Harry's uncertain financial position revealed.

Return home.

Information from Bob leading to

Harry's consent to counteraction.

He goes to London.

The involvement with Ramsey Bennett, and

the offer of a job: the first stage of his struggle

with himself.
The involvement with Anna (The P.R. lady)

a similar struggle, though it develops beyond

the initial interaction.

The perfume on his shirt.

His success: her denial of Anne is an assertion of
his own completeness.

Return.

Initially unrecognized.

The struggle, through Joan, with himself: (F) the

rejection of the job. His basic status manifest,
especially in his understanding of Joan's

information about her liaison with Lionel.

They kiss.

B. Acting Units. (Actants)

Hexro: Harry.
Helper/Opponent: Joan: the accountant: R.B. Anna.
Villain: (seducer) Anna.

Object of search: Harry: Joan and Harry.
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Episode 13
A. Morphology
g Information received about Harry's serious illness.
B.C. Harry and Joan agree to go and see what can be done.

(There is no distinct lack, rather a surplus to be defended... the
subsequent tests are weak narratively).
A Their departure.

D The test with the past, symbolised by Harry's

Er B, mother, and her death (8, )

F

K The burden of the past liquidated.

D) Harry'!s visit to the doctor; a warning but a

E 1K recognition of his health, (natural health).

F )

D | Harry and Joan: Bob and Kate: (cultural health) working
Er separately and together; the establishment of family 1life.
F/K (Social health). The bungalow.

Q\ Their joint recognition of their heroic status and their
T:r triumph. The bungalow and its planning. The

W) wedding.

B/C The openness to the future.

B. Acting Units (Actants)

Hero: Harry and Joan.

Helper/Opponent: Harry's mother (part). Kate and Bob. "The famil;
Object of search: Harry and Joan.






